
6.59

Subracks – D ServicePLUS

Part number in bold face type: ready for despatch within 2 working days
Part number in normal type: ready for despatch within 10 working days

Main Catalogue
E  10/2012

Order Information

Note
� For installation and fixing of heavy components 
� In addition to the mounting plate, (EMC) cover plates 

can also be fitted to the subrack
� The mounting plate is as wide as the subrack or system case 

and is fixed to the side panels
� A guide rail can be fitted on the first and last slot
� Guide rails type "4.4" and type "strengthened" cannot be used

Mounting plates

Mounting plate Mounting plate
can be used in combination 

with cover plate
for use without cover plate Fixing strip for partial widths

bza45819 06102501 06102501

06102501

AI, 1.5 mm; 
mounting is only possible over the 

entire width between the side panels;
width of mounting plate 

= W  -  9.71 mm

Al, 1.5 mm; 
for mounting over partial width, 

please order fixing strips separately

St, 2 mm, zinc-plated; 
is bolted from front to rear 
onto the horizontal rails; 

to fix mounting plates

Width W W Board length
HP mm mm 1 piece 1 piece 1 piece
28 146.88 160 34563-001 34562-745 30840-021
28 146.88 220 34563-009 34562-749 30840-033
28 146.88 280 – 34562-753 30840-045
28 146.88 340 – 34562-757 30840-057
42 217.99 160 34563-002 34562-746 30840-021
42 217.99 220 34563-014 34562-750 30840-033
42 217.99 280 – 34562-754 30840-045
42 217.99 340 – 34562-758 30840-057
63 324.67 160 34563-003 34562-747 30840-021
63 324.67 220 34563-019 34562-751 30840-033
63 324.67 280 – 34562-755 30840-045
63 324.67 340 – 34562-759 30840-057
84 431.35 160 34563-004 34562-748 30840-021
84 431.35 220 34563-024 34562-752 30840-033
84 431.35 280 – 34562-756 30840-045
84 431.35 340 – 34562-760 30840-057
Assembly kit for mounting plate, PU 1 kit 
(Torx countersunk screw M4 x 5, St, 
zinc-plated, 12 pieces; 
screw M4 x 6, St, zinc-plated, 10 pieces; 
square nut M4, St, zinc-plated, 10 pieces)

24560-184 24560-184 –

Assembly kit for fixing strips for partial width 
mounting plates
Torx screw M2.5 × 5, St, zinc-plated, 
PU 100 pieces

– – 24560-146

6_1_europacPRO_e_.fm  Seite 59  Mittwoch, 10. Oktober 2012  1:19 13




